201 6 FETHHISTHINT=—AKE

BFFE)—45 (85— LIvF. . EZ/—7K)

2017. 2. 19

BF 1 2 3 fE5 BX (=R v
8—5 1—8
KTC * 8—1 4—8 1—1 2431
8—0 5—8
5—8 2—8
IXHAk 1—8 * 2—8 0—2 3
0—8 2—8
8—1 8—2
AIETC 8—4 8—2 * 2—0 14iL
8—5 8—2
BFEE; BHETC
BFAEER KTC
BF31I: IxHAk



201 6 FETHHISTHMT=—AKE

TF)—45 (65—L<TyvF,. EX/—TK) 2017. 2. 19

TF)—4 1 2 3 4 RE5 BX (=X 2
3—6 | 6—2 | 6—2
KTC * 1—6 | 6—0 | 6—4 2 —1 2 {51
3—6 | 6—0 | 6—0
6—3 6—2 | 4—6
KTC—#% 6— 1 * 6 — 1 6 —3 3—0 1 {31
6—3 6 — 1 6 —2
2—6 | 2—6 2—6
ACE ! 0—6 1—6 * 5—7 0—3 4 i
0—6 1—6 1—6
2—6 | 6—4 | 6—2
AETCL 4 —6 3—6 7—5 * 1—2 3 i
0O—6 | 2—6 | 6—1
XFE KTC— #k
WFEEER KTC
LF31r; FFETCL

FALL; ACE !



201 6 FETHHISTMHNT_AKRE

BF)—IUBER (B85 —LIYF, EZX/—TF) 2017.2.19
B+ KTC IxHAk RBIETC
KTC — IFxHAk KTC 0—3 AIETC
AT ILZA| K ,C;)\ = =8 IhNE — B-¥0O =&f-thMA 1—8 | B&Z3-IkHE
BT LRI g @ £ -ith 8—1 CANTTRr=Y R INE | 4—8 |EHE-EERA
FTILR3I Q@,tj INEE - jth 8—0 -4l =f8-/hE | 5—8 |BEZ-EEIA
T IxHAk 0—3 KTC IxHAk — AIBTC
FIT LA X ®-F0O 5—8 | =f-/hE N A B2 — %8 kMA
AT IR A S -EtE 1—8 | #HiAk-thH AN 204004 2—8 |f2/@-xEmA
f )
ATILAT < B-4hL 0—8 | /ME-ithH Q,Q HO-5E | 2—8 | &HA-kE
RIETC 3—0 KTC AIETC — IXxHAk
£TILR *EE BiE-REA | 8—1 | =#-tM #iE-RE - Bt N A
=]
BT LR T fEA-EEIA| 8—4 | BK-/ME fEA-EERA| 8—2 | EFO-4L )@
- c - _ YA\
STILRF B EERA| 8—5 =8@-/hE t2H-RE 8—2 | HA-=4




201 6 FETHEHISTHMT_AKE

ZF)—JEHER 6T —LTYF.&I/—TF) 2017. 2. 19
TF KTC KTC—#& ACE ! AFETCL
KTC — KTC—#x KTC — ACE ! KTC — AiETCL
FT LR K A\ KZR-#K - ho-55 KZR-&#& - RE-[HH KR-1&ik - INEF- R AR
ST IR g 91(9 HEE-EM | 1—6 | HER-1ERE w8k | 6—0 |#L-FE BAR-EH| 6—4 | @5 RE
AT LRI Q’Q tj BEE-8AK | 3—6 | BKR-BEE KR-#%#k | 6—0 | LU -HHE KR-#AK| 6—0 |/Nil-kA
K KTC—#& — KTC KTC—#k | 3—0 ACE ! KTC—#% | 2—1 | A#BTCL
6A2H T ho-s5 - KR-#K A = WOo-fE8 | 6—2 | tEIL-FHA WOo-#E | 4—6 | B4 -RA
ST IR C BeER-£RE | 6—1 | BE-EHK 91(e BAEE| 6—1 | KE-#HE BR-E8| 6—3 | /Ni-RHE
HTILRY 2 BRAR-E | 6—3 | Ri&-#5K Q‘Q Qj BEER-1EE | 6—1 | BIL-F=E WER- £k | 6—2 | /MII-/NEF
ACE ! — KTC ACE ! 0—3 | KTC—#x ACE ! 0—3 [ ®\#BICL
FT LR A RE-[HH - KR-E#K L-FA | 2—6 | WLO-B AN = RE-#HE| 2—6 |EP-EAX
FTILRZ CE; BL-#FHE| 0—6 | EE&k-#HK AXE-HE| 1-6 | BA-BE ©w@ BIL-FEE | 5—7 | DI-NE
HTILRY ! BIL-EH | 0—6 | KRR-&E BIL-FHE| 6—1 | BEER-1ER % XE-BEHB| 1—-6 | /MEH-iRE
. AatsTC — KTC ABIBTCL | 1—2 | KTC—#% BIEIC | 3-0 ACE !
FTILR 1= INEF - AR - KR-%&% Ea-fA | 6—4 | LLO-FER Ea-fA| 6—2 | KE-H=E 8 a
#ILR2 I; E5-RE | 4—6 | kB || | 2-mE | 3-6 |&K-EmE || | 00| 7-5 | #u-Em
FTILRY L IMI-IRE | 0—6 | KR-#8K ININ-INEF | 2—6 | BEER- 1Rk INEF-3REH | 6—1 | KE-HH Q’Q w




FORTHHIZITHMIMNT—AKRE HEESFEIZE 2017428190 (B)BME

£

BFEM BHETC
KRR AT HE - R - RS REB—

TFER KTC—%
RAREF-EBEF- S EBLE- LOVSF-BEEAHLF

LT #EBE KTC
HABE RHAR KERTF EHET

BFEE

CKIEEH



